

PRESSURE OF A CIRCULAR STAMP ON A COMPOSITE LAYER*

A. I. SOLOV'EV

The method of dual integral equations is used to obtain a solution to the problem of a rigid circular stamp pressing on an elastic composite layer, with a cylindrical surface separating the materials. A large number of papers have already been published, dealing with the mechanics of multilayered media in which the surfaces separating the layers from each other do not intersect the outer boundary (see references in /1/). The formulation and methods of solution of the fundamental boundary value problems can be found for such media in the monographs /2,3/.

Considerably less attention has been given to the study of the boundary value problems for composite media in which the surfaces separating the layers do intersect the outer boundary. The authors of /4,5/ call such media the regions with transverse (vertical) layer folding. Out of the publications dealing with the methods of solving contact problems for transversely layered regions, attention should be drawn to /4-11/ (**).

Axisymmetric problems of torsion were studied in /12,13/ et al. For the regions indicated the three-dimensional problems, in particular the axisymmetric problems of the pressure exerted by a stamp applied to a part of the outer boundary, remain practically untouched.

1. A layer resting on a rigid elastic foundation is composed of the domains 1) ($0 \leq r' \leq a$, $0 \leq z' \leq H$) and 2) ($a \leq r' < \infty$, $0 \leq z' \leq H$), occupied by materials with different elastic constants ν_1, G_1 and ν_2, G_2 . A smooth rigid stamp bounded by a convex surface of revolution is applied to the segment $0 \leq r' \leq b$, $b \geq a$, $z' = H$. We assume that there is no friction between the bodies 1 and 2, between the stamp and the layer, and between the layer and the foundation. The force impressing the stamp acts along the axis of the cylindrical inclusion. We assume for simplicity that the boundary of the layer outside the stamp is free of external forces. The boundary conditions of the problem in question have the form

$$w^{(2)}(r, h) = w_0 + f(r) \quad (e \leq r \leq 1), \quad \sigma_{zr}^{(2)}(r, h) = 0 \quad (1 < r < \infty) \quad (1.1)$$

$$w^{(1)}(r, h) = w_0 + f(r) \quad (0 \leq r \leq e), \quad w^{(1)}(r, 0) = \tau_{rz}^{(1)}(r, 0) = \tau_{rz}^{(2)}(r, h) = \tau_{rz}^{(2)}(e, z) = 0 \quad (1.2)$$

$$u^{(1)}(e, z) = u^{(2)}(e, z), \quad \sigma_{rr}^{(1)}(e, z) = \sigma_{rr}^{(2)}(e, z), \quad r = \frac{r'}{b}, \quad z = \frac{z'}{b}, \quad e = \frac{a}{b}, \quad h = \frac{H}{b}$$

where $w_0 < 0$ denotes the progressive displacement of the stamp along the z -axis, $f(r)$ is the equation of the stamp surface, and $i = 1, 2$.

We write the solution of the Lamé equations for the domain 1 in the form /14/

$$u^{(1)} = \sum_{j=1}^{\infty} (A_j z \operatorname{sh} \lambda_j z + C_j \operatorname{ch} \lambda_j z) J_1(\lambda_j r) + B_0 r + \sum_{n=1}^{\infty} \left[B_n^{(1)} \frac{4(1-\nu_1)}{k_n} I_1(k_n r) - B_n^{(1)} r I_0(k_n r) - D_n^{(1)} I_1(k_n r) \right] \cos k_n z$$

$$w^{(1)} = A_0 z + \sum_{j=1}^{\infty} \left(A_j \frac{3-4\nu_1}{\lambda_j} \operatorname{sh} \lambda_j z - A_j z \operatorname{ch} \lambda_j z - C_j \operatorname{sh} \lambda_j z \right) J_0(\lambda_j r) + \sum_{n=1}^{\infty} [B_n^{(1)} r I_1(k_n r) + D_n^{(1)} I_0(k_n r)] \sin k_n z, \quad k_n = \frac{\pi n}{h}$$

and for the domain 2 we use, as the solution of the Lamé equations, the expressions

*Prikl. Matem. Mekhan., 44, No. 6, 1111-1119, 1980

** See also Babloian A.A. and Gulkanian N.O. Plane contact problem of the theory of elasticity for two truncated wedges. Tezisy dokl. Vses. konf. po smeshannym zadacham mekhaniki deformiruемого tela, ch. 1, Izd-vo Rostov. Univ, 1977; Minasian A.F. and Tonoian V.S. Contact problem for a composite half-plane with a finite vertical cut. Tezisy dokl. Vses. konf. po smeshannym zadacham mekhaniki deformiruемого tela. ch.2. Izd. Rostov. Univ. 1977.

$$u^{(2)} = \frac{D_0}{r} + \sum_{n=1}^{\infty} \left\{ -D_n^{(2)} K_1(k_n r) + B_n^{(2)} \left[r K_0(k_n r) + \frac{4(1-\nu_2)}{k_n} K_1(k_n r) \right] \right\} \cos k_n z - \int_0^{\infty} (A(\lambda) \operatorname{ch} \lambda z + C(\lambda) [(3-4\nu_2) \operatorname{ch} \lambda z + \lambda z \operatorname{sh} \lambda z]) J_1(\lambda r) d\lambda$$

$$w^{(2)} = - \sum_{n=1}^{\infty} [D_n^{(2)} K_0(k_n r) - B_n^{(2)} r K_1(k_n r)] \sin k_n z + \int_0^{\infty} [A(\lambda) \operatorname{sh} \lambda z + C(\lambda) \lambda z \operatorname{ch} \lambda z] J_0(\lambda r) d\lambda$$

Here $A_0, B_0, D_0, A_j, C_j, B_n^{(1)}, B_n^{(2)}, D_n^{(1)}, D_n^{(2)}$ are arbitrary constants, $A(\lambda), C(\lambda)$ are arbitrary functions, $J_n(x)$ is a Bessel function of the first kind, $I_n(x)$ and $K_n(x)$ are the MacDonald functions, and λ_j are positive roots of the equation $J_{1,1}(\lambda \varepsilon) = 0$. Terms containing the constants A_0, B_0 and D_0 correspond to the elementary solutions for a finite cylinder and a layer weakened by a cylindrical cavity. A formal reason for including the term $A_0 z$ in the solution is provided by the fact that in this case the system of functions $J_0(\lambda, r)$ becomes complete only after incorporating a constant into it. When choosing the positive roots of the equation $J_0(\lambda \varepsilon) = 0$ as λ_j , we must put $A_0 = 0$ //1/.

Satisfying the conditions (1.2), eliminating $A(\lambda), D_n^{(1)}$ from the resulting equations and putting $C(\lambda) \operatorname{sh} \lambda h = C^*(\lambda)$, we obtain

$$B_0 = D_0 + \frac{2\nu_2}{h} \int_0^{\infty} \lambda^{-1} C^*(\lambda) J_1(\lambda \varepsilon) d\lambda, \quad \frac{G_1(B_0 + A_0 \nu_1)}{1 - 2\nu_1} = -G_2 \left[D_0 + \frac{2\nu_2}{h} \int_0^{\infty} \lambda^{-1} C^*(\lambda) J_1(\lambda \varepsilon) d\lambda \right] \quad (1.3)$$

$$A_0 = \frac{w_0}{h}, \quad A_j \lambda_j h \operatorname{ch} \lambda_j h - (1 - 2\nu_1) A_j \operatorname{sh} \lambda_j h + C_j \lambda_j \operatorname{sh} \lambda_j h = 0$$

$$\kappa_1 A_j \cdot \operatorname{sh} \lambda_j h = \frac{\lambda_j^{a_j}}{\varepsilon^2 J_0^2(\lambda_j \varepsilon)}, \quad a_j = \int_0^{\varepsilon} r f(r) J_0(\lambda_j r) dr$$

$$B_n^{(1)} = \frac{\kappa_2}{\kappa_1} \left[\frac{K_1(k_n \varepsilon)}{I_1(k_n \varepsilon)} B_n^{(2)} - \frac{2(-1)^n k_n}{I_1(k_n \varepsilon)} \int_0^{\infty} \frac{\lambda C^*(\lambda) J_1(\lambda \varepsilon) d\lambda}{h(k_n^2 + \lambda^2)} \right]$$

$$\frac{(-1)^n B_n^{(2)}}{K_1(k_n \varepsilon)} = \frac{2\kappa_1 k_n I_1^2(k_n \varepsilon)}{h \Delta(k_n \varepsilon)} \left\{ -\frac{2G_1}{\kappa_1} k_n^2 \sum_{j=1}^{\infty} \frac{\lambda_j^{a_j}}{J_0(\lambda_j \varepsilon)(k_n^2 + \lambda_j^2)^2} + \right.$$

$$\int_0^{\infty} \left[\frac{G_1 \kappa_2}{\kappa_1} \frac{\Delta_1(k_n \varepsilon)}{I_1^2(k_n \varepsilon)} \frac{\lambda}{k_n^2 + \lambda^2} + 2G_2 \kappa_2 \frac{\lambda}{k_n^2 + \lambda^2} + \right.$$

$$\left. 2G_2 \frac{\lambda^3 k_n \varepsilon K_0(k_n \varepsilon)}{(k_n^2 + \lambda^2)^2 K_1(k_n \varepsilon)} \right] J_1(\lambda \varepsilon) C^*(\lambda) d\lambda - 2G_2 \times \int_0^{\infty} \frac{\lambda^3 k_n^2 \varepsilon}{(k_n^2 + \lambda^2)^2} J_0(\lambda \varepsilon) C^*(\lambda) d\lambda \left. \right\}$$

$$\Delta(k_n \varepsilon) = G_1 \kappa_2 K_1^2(k_n \varepsilon) \Delta_1(k_n \varepsilon) - G_2 \kappa_1 I_1^2(k_n \varepsilon) \Delta_2(k_n \varepsilon)$$

$$\Delta_1(k_n \varepsilon) = k_n^2 \varepsilon^2 [I_0^2(k_n \varepsilon) - I_1^2(k_n \varepsilon)] - 2\kappa_1 I_1^2(k_n \varepsilon)$$

$$\Delta_2(k_n \varepsilon) = k_n^2 \varepsilon^2 [K_0^2(k_n \varepsilon) - K_1^2(k_n \varepsilon)] - 2\kappa_2 K_1^2(k_n \varepsilon), \quad \kappa_i = 1 - \nu_i \quad (i = 1, 2)$$

Realizing the mixed conditions (1.1), we obtain the following dual integral equations:

$$\int_0^{\infty} C^*(\lambda) J_0(\lambda r) d\lambda = g(r) \quad (\varepsilon \leq r \leq 1), \quad \int_0^{\infty} \frac{C^*(\lambda)}{1 - G(\lambda h)} \lambda J_0(\lambda r) d\lambda = F(r) \quad (1 < r < \infty) \quad (1.4)$$

$$G(\lambda h) = \frac{\lambda h + \operatorname{sh} \lambda h e^{-\lambda h}}{\lambda h + \operatorname{sh} \lambda h \operatorname{ch} \lambda h}, \quad g(r) = -\frac{w_0 + f(r)}{2\kappa_2}, \quad F(r) = - \sum_{n=1}^{\infty} \{ P_n K_0(k_n r) + (-1)^n B_n^{(2)} [2K_0(k_n r) - k_n r K_1(k_n r)] \}$$

$$P_n = \frac{k_n}{K_1(k_n \varepsilon)} \left[(-1)^n B_n^{(2)} \varepsilon K_0(k_n \varepsilon) + \frac{4}{h} \int_0^{\infty} \frac{\lambda^3 C^*(\lambda) J_1(\lambda \varepsilon) d\lambda}{(k_n^2 + \lambda^2)^2} \right]$$

Let us extend, in accordance with /3/, the right-hand part of the first equation of (1.4) to the segment $0 \leq r \leq 1$, and put $C^*(\lambda) = [1 - G(\lambda h)] \psi(\lambda)$. Then we have

$$\int_0^{\infty} \psi(\lambda) J_0(\lambda r) d\lambda = \int_0^{\infty} G(\lambda h) \psi(\lambda) J_0(\lambda r) d\lambda + g(r) \quad (0 \leq r \leq 1), \quad \int_0^{\infty} \lambda \psi(\lambda) J_0(\lambda r) d\lambda = F(r) \quad (1 < r < \infty) \quad (1.5)$$

Following /7/ we multiply the first equation of (1.5) by $r(t^2 - r^2)^{-1/2} dr$, integrate with respect to r from zero to t and differentiate the resulting expression with respect to t . Next we multiply the second equation of (1.5) by $r(r^2 - t^2)^{-1/2} dr$ and integrate with respect to r from t to ∞ . Using now the equations

$$\frac{d}{dt} \int_0^t \frac{r J_0(\lambda r) dr}{\sqrt{t^2 - r^2}} = \cos \lambda t, \quad \int_0^\infty \frac{r J_0(\lambda r) dr}{\sqrt{r^2 - t^2}} = \frac{\cos \lambda t}{\lambda}$$

and the Fourier cosine transform we obtain, after some manipulations,

$$\psi(\lambda) = \frac{1}{\pi} \int_0^\infty G(uh) \left[\frac{\sin(\lambda + u)}{\lambda + u} + \frac{\sin(\lambda - u)}{\lambda - u} \right] \psi(u) du + \quad (1.6)$$

$$\sum_{n=1}^{\infty} \frac{e^{-k_n}}{k_n (k_n^2 + \lambda^2)} \{ P_n F_1(\lambda, k_n) + (-1)^n B_n^{(2)} F_2(\lambda, k_n) \} + r(\lambda)$$

$$F_1(\lambda, k_n) = \lambda \sin \lambda - k_n \cos \lambda, \quad F_2(\lambda, k_n) = \left(\frac{2\lambda^2}{k_n^2 + \lambda^2} - k_n \right) F_1(\lambda, k_n) - \lambda \sin \lambda$$

$$r(\lambda) = \frac{2}{\pi} \int_0^1 \cos \lambda t \left[\frac{d}{dt} \int_0^t \frac{r g(r) dr}{\sqrt{t^2 - r^2}} \right] dt$$

Substituting into (1.6) the expressions for P_n and $B_n^{(2)}$, we arrive at a regular integral Fredholm equation of the second kind, i.e. at an integral equation of the second kind with a continuous, square summable kernel and a free term.

2. Let us consider in more detail the problem of impressing a stamp with a plane foundation. In this case we have

$$C_j = A_j = a_j = 0 \quad (j=1, 2, \dots), \quad r(\lambda) = -\frac{v_n}{\pi \alpha_2} \frac{\sin \lambda}{\lambda}$$

Let us put

$$(-1)^n B_n^{(1)} = \frac{x_n^{(1)}}{k_n J_1(k_n \varepsilon)}, \quad (-1)^n B_n^{(2)} = \frac{x_n^{(2)}}{k_n K_1(k_n \varepsilon)} \quad (2.1)$$

Then by virtue of (1.3) we obtain

$$\alpha_1 x_n^{(1)} = \alpha_2 x_n^{(2)} - \frac{2}{h} \alpha_2 k_n^2 \int_0^\infty \frac{\lambda [1 - G(\lambda h)] \psi(\lambda)}{k_n^2 + \lambda^2} J_1(\lambda \varepsilon) d\lambda \quad (2.2)$$

$$x_n^{(2)} = \frac{2\alpha_1 k_n^2 I_1^2(k_n \varepsilon) K_1^2(k_n \varepsilon)}{h \Delta(k_n \varepsilon)} \int_0^\infty \left\{ \frac{G_1 \alpha_2}{\alpha_1} \frac{\Delta_1(k_n \varepsilon)}{I_1^2(k_n \varepsilon)} + 2G_2 \alpha_2 + 2G_2 \frac{k_n \varepsilon K_0(k_n \varepsilon) \lambda^2}{K_1(k_n \varepsilon)(k_n^2 + \lambda^2)} \right\} J_1(\lambda \varepsilon) - 2G_2 \frac{k_n^2 \lambda \varepsilon}{k_n^2 + \lambda^2} J_0(\lambda \varepsilon) \left\{ \times \right. \\ \left. \frac{\lambda [1 - G(\lambda h)]}{k_n^2 + \lambda^2} \psi(\lambda) d\lambda \right.$$

Taking into account the substitutions (2.1), we arrive at the following expressions for the contact stresses under the stamp:

$$\frac{\sigma_{zz}^{(1)}(r, h)}{2G_1} = \frac{2v_1 B_n + (1 - v_1) A_n}{1 - 2v_1} + \sum_{n=1}^{\infty} \frac{x_n^{(1)}}{k_n} S_1(k_n, r) \quad (2.3)$$

$$\frac{\sigma_{zz}^{(2)}(r, h)}{2G_2} = - \int_0^\infty \lambda \psi(\lambda) J_0(\lambda r) d\lambda + \sum_{n=1}^{\infty} \frac{x_n^{(2)}}{k_n} S_2(k_n, r) - \quad (2.4)$$

$$\frac{4}{h} \sum_{n=1}^{\infty} \frac{k_n K_0(k_n \varepsilon)}{K_1(k_n \varepsilon)} \int_0^\infty \frac{\lambda^2 [1 - G(\lambda h)] \psi(\lambda)}{(k_n^2 + \lambda^2)^2} J_1(\lambda \varepsilon) d\lambda$$

$$S_1(k_n, r) = \frac{k_n [r I_1(k_n r) I_1(k_n \varepsilon) - \varepsilon I_0(k_n r) I_2(k_n \varepsilon)]}{I_1^2(k_n \varepsilon)}$$

$$S_2(k_n, r) = \frac{k_n [r K_1(k_n r) K_1(k_n \varepsilon) - \varepsilon K_0(k_n r) K_2(k_n \varepsilon)]}{K_1^2(k_n \varepsilon)}$$

After some manipulations the expression (2.4) can be written in the form

$$\frac{\sigma_{zz}^{(2)}(r, h)}{2G_2} = \frac{\gamma}{\sqrt{t^2 - r^2}} - \frac{2}{\pi} \int_r^1 \frac{dt}{\sqrt{t^2 - r^2}} \int_0^\infty u G(uh) \psi(u) \sin ut du - \quad (2.5)$$

$$\gamma = \frac{w_0}{\pi \kappa_2} - \frac{2}{\pi} \int_0^\infty G(uh) \psi(u) \cos u \, du - \sum_{n=1}^\infty \left[P_n + \frac{x_n^{(2)}}{k_n K_1(k_n \varepsilon)} (1 - k_n) \right] \frac{e^{-k_n}}{k_n}$$

Both integrals in the first equation of (2.5) vanish as $r \rightarrow 1$, consequently we have

$$\sigma_{zz}^{(2)}(r, h) \sim \frac{2G_2 \gamma}{\sqrt{1-r^2}} \quad (r \rightarrow 1)$$

It is clear that the difficulties encountered in investigating the convergence of the series appearing in the expressions for $\sigma_{zz}^{(1)}(r, h)$, $\sigma_{zz}^{(2)}(r, h)$ arise only in the near vicinity of the line $r = \varepsilon$ and on the line $r = \varepsilon$ itself. Using the integral equation for the function sought, we can confirm that

$$\int_0^\infty \frac{\lambda [1 - G(\lambda h)] \psi(\lambda)}{k_n^2 - \lambda^2} J_1(\lambda \varepsilon) \, d\lambda = \frac{\pi}{2} k_n^{-1} e^{-k_n} I_1(k_n \varepsilon) \left\{ -\frac{w_0}{\pi \kappa_2} - \frac{2}{\pi} k_n \int_0^\infty \frac{u G(uh) \psi(u) \sin u}{k_n^2 + u^2} \, du + \frac{2}{\pi} k_n^2 \int_0^\infty \frac{G(uh) \psi(u) \cos u}{k_n^2 + u^2} \, du + k_n \sum_{m=1}^\infty \frac{e^{-k_m} P_m}{k_m (k_m + k_n)} - k_n \sum_{m=1}^\infty \frac{e^{-k_m} [k_m (k_m + k_n) - k_n] x_m^{(2)}}{k_m^2 K_1(k_m \varepsilon) (k_m + k_n)^2} \right\}$$

hence

$$\int_0^\infty \frac{\lambda [1 - G(\lambda h)] \psi(\lambda)}{k_n^2 + \lambda^2} J_2(\lambda \varepsilon) \, d\lambda \sim -\frac{\pi}{2} \gamma k_n^{-1} e^{-k_n} I_1(k_n \varepsilon) \quad (n \rightarrow \infty)$$

The validity of the following asymptotic equations is proved in the same manner:

$$\int_0^\infty \frac{\lambda^3 [1 - G(\lambda h)] \psi(\lambda)}{(k_n^2 + \lambda^2)^2} J_1(\lambda \varepsilon) \, d\lambda \sim \frac{\pi}{4} \gamma e^{-k_n} [I_1(a_n \varepsilon) - \varepsilon I_0(k_n \varepsilon)]$$

$$\int_0^\infty \frac{\lambda^3 [1 - G(\lambda h)] \psi(\lambda)}{(k_n^2 + \lambda^2)^2} J_0(\lambda \varepsilon) \, d\lambda \sim \frac{\pi}{4} \gamma k_n^{-1} e^{-k_n} [e I_1(k_n \varepsilon) - I_0(k_n \varepsilon)]$$

Separating in (2.2) the principal parts of the integrals, we find that

$$\frac{x_n^{(1)}}{\kappa_2}, \frac{x_n^{(2)}}{\kappa_1} \sim \frac{\pi G_2 \gamma (1 - \varepsilon)}{h (G_1 \kappa_2 + G_2 \kappa_1)} k_n^2 e^{-k_n} [I_0(k_n \varepsilon) + I_1(k_n \varepsilon)] \quad (n \rightarrow \infty)$$

Consequently the convergence of every series in (2.3) and (2.4) is characterized by an exponentially decaying general term, and this implies the boundedness of the contact stresses under the stamp near the line $r = \varepsilon$ as well as on the line $r = \varepsilon$. The latter holds also for the stresses $\sigma_{zz}^{(1)}(r, 0)$, $\sigma_{zz}^{(2)}(r, 0)$.

Assuming $G_1 = 0$, $v_1 = 0$, which corresponds to the contact problem for a layer weakened by a cylindrical cavity we obtain, as before, the following regular integral Fredholm equation of the second kind

$$\psi(\lambda) = \int_0^\infty K(\lambda, u) \psi(u) \, du - \frac{w_0}{\pi \kappa_2} \frac{\sin \lambda}{\lambda} \tag{2.6}$$

$$K(\lambda, u) = \frac{1}{\pi} G(uh) \left[\frac{\sin(\lambda + u)}{\lambda + u} + \frac{\sin(\lambda - u)}{\lambda - u} \right] - \frac{4}{h} \sum_{n=1}^\infty \frac{[1 - G(uh)] e^{-k_n}}{\Delta_2(k_n \varepsilon) (k_n^2 + \lambda^2)} [F_1(\lambda, k_n) H_1(u, k_n) + F_2(\lambda, k_n) H_2(u, k_n)]$$

$$H_1(u, k_n) = \left[\frac{u^3 (k_n^2 \varepsilon^2 + 2\kappa_2) K_1(k_n \varepsilon)}{(k_n^2 + u^2)^2} + \frac{\kappa_2 k_n \varepsilon u K_0(k_n \varepsilon)}{k_n^2 + u^2} \right] J_1(u \varepsilon) - \frac{u^2 k_n^3 \varepsilon^2 K_1(k_n \varepsilon)}{(k_n^2 + u^2)^2} J_0(u \varepsilon)$$

$$H_2(u, k_n) = \left[\frac{\kappa_2 u K_1(k_n \varepsilon)}{k_n^2 + u^2} + \frac{u^2 k_n \varepsilon K_0(k_n \varepsilon)}{(k_n^2 + u^2)^2} \right] J_1(u \varepsilon) - \frac{u^2 k_n^2 \varepsilon K_1(k_n \varepsilon)}{(k_n^2 + u^2)^2} J_0(u \varepsilon)$$

We note that $F(r) \rightarrow 0$ as $a \rightarrow 0$ ($\varepsilon \rightarrow 0$) and equation (2.6) is transformed to the integral

equation of the contact problem for a homogeneous dense layer

$$\psi(\lambda) = \frac{1}{\pi} \int_0^{\infty} G(uh) \left[\frac{\sin(\lambda+u)}{\lambda+u} + \frac{\sin(\lambda-u)}{\lambda-u} \right] \psi(u) du - \frac{w_0}{\pi \alpha_2} \frac{\sin \lambda}{\lambda} \quad (2.7)$$

The case $b \rightarrow \infty$ ($b \gg a$) also corresponds to (2.7).

The process of solving the equations obtained is accompanied by the usual computational problem arising at small values of $h = H/b$ /15/, and this necessitates additional, not at all trivial investigations. In the present case a more detailed analysis of the properties of the solutions is needed also in the case when h are sufficiently large.

As an example we shall consider the integral equation (2.6). The arguments that follow will also refer to the case of the integral equation of the initial problem. It can be shown that the computational problems arising in the process of solving equations (2.6) and (2.7) are analogous, at small h , to those of the integral equation of the first kind appearing in the contact problem for a layer /15/. A method of solving equations of the type (2.7) for large h is given in /16/.

Let us denote by $K_1(\lambda, u)$ and $K_2(\lambda, u)$ the first and second terms of the kernel $K(\lambda, u)$ of the equation (2.6). Let also $C[0, \infty)$ be a space of continuous functions bounded on the semiaxis, with the norm

$$\|y(\lambda)\| = \sup_{(\lambda)} |y(\lambda)| \quad (0 \leq \lambda < \infty)$$

Lemma. The function

$$y(\lambda) = \int_0^{\infty} K(\lambda, u) x(u) du$$

belongs to the space $C[0, \infty)$ for any $x(\lambda) \in L_2(0, \infty)$ and $h > 0$.

The validity of the lemma follows from the Cauchy-Buniakowski inequality, continuity and boundedness of the function $K(\lambda, u)$, and the estimates

$$\left| \frac{e^{-k_n}}{k_n^2 + \lambda^2} F_1(\lambda, k_n) \right| = \left| \int_1^{\infty} e^{-k_n t} \cos \lambda t dt \right| \leq k_n^{-1} e^{-k_n} \quad (2.8)$$

$$\left| \frac{e^{-k_n}}{k_n^2 + \lambda^2} F_2(\lambda, k_n) \right| = \left| \int_1^{\infty} (k_n t - 1) e^{-k_n t} \cos \lambda t dt \right| < k_n^{-1} (k_n + 2) e^{-k_n}$$

$$|K_1(\lambda, u)| \leq \frac{2}{\pi} G(uh) \quad (0 \leq \lambda, u < \infty), \quad |K_2(\lambda, u)| < d_1 u^{-1} |J_1(ue)| + d_2 u^{-2} |J_0(ue)| \\ (0 \leq \lambda < \infty, u \geq u_0 > 0, d_i > 0, d_i = \text{const})$$

Since the free term of (2.6) belongs to the space $C[0, \infty)$, the lemma implies that only the functions belonging to the space $C[0, \infty)$ can be solutions of the equation (2.6).

Theorem 1. Operator Kx defined at $h > 0$ by the equation

$$Kx = \int_0^{\infty} K(\lambda, u) x(u) du$$

is completely continuous in $C[0, \infty)$. The validity of Theorem 1 can be established using the lemma, the estimates (2.8) and the Arzel theorem.

Theorem 2. Integral equation (2.6) has a unique solution belonging to the space $C[0, \infty)$ at any $h > 0$. The proof of Theorem 2, with the lemma and Theorem 1 taken into account, is analogous to that given in /16/.

Carrying out the substitution $w^{(i)} \rightarrow -w^{(i)}$, $z \rightarrow h - z$ in the initial expressions for the components of the displacement vector and using the relation /14/

$$\lim_{a \rightarrow \infty} \sum_{n=1}^{\infty} \frac{1}{a} f\left(\frac{n}{a}\right) = \int_0^{\infty} f(s) ds$$

we pass, as $h \rightarrow \infty$, from the equation (2.6) to the integral equation

$$\psi_{\infty}(\lambda) = \int_0^{\infty} k(\lambda, u) \psi_{\infty}(u) du + \frac{w_0}{\pi \alpha_2} \frac{\sin \lambda}{\lambda} \quad (w_0 > 0) \quad (2.9) \\ k(\lambda, u) = \frac{4}{\pi} \int_0^{\infty} \frac{e^{-s}}{\Delta_2(s)(s^2 + \lambda^2)} [F_1(\lambda, s) H_1(u, s) + F_2(\lambda, s) H_2(u, s)] ds$$

The functions $F_1(\lambda, s)$, $H_1(u, s)$, $\Delta_2(se)$ are obtained by carrying out the substitution $k_n \rightarrow S$ in the expressions for $F_1(\lambda, k_n)$, $H_1(u, k_n)$, $\Delta_2(k_n \varepsilon)$ given above. Equation (2.9) is also obtained in the course of solving the initial problem for a half-space with a cylindrical cavity.

Using the estimates analogous to (2.8) and the inequalities

$$\left| \frac{e^{-s}}{s^2 + \lambda^2} F_1(\lambda, s) \right| < \frac{2e^{-s}}{\lambda}, \quad \left| \frac{e^{-s}}{s^2 + \lambda^2} F_2(\lambda, s) \right| < \frac{2(s+2)}{\lambda} e^{-s} \quad (s > 0, \lambda \gg \lambda_0 > 0)$$

we can show that the kernel $k(\lambda, u)$ is square integrable and continuous function in the domain $0 \leq \lambda, u < \infty$. From this it follows that equation (2.9) is a regular, integral Fredholm equation of the second kind, and the assertions analogous to those given above, hold for this equation.

Let us now denote by $\psi_h(\lambda)$ the solution of (2.6) corresponding to a specified value of the parameter h .

Theorem 3. $\psi_h(\lambda) \div \psi_\infty(\lambda)$ is uniform in λ as $h \rightarrow \infty$.

The validity of the theorem follows from the complete continuity of the operator Kx , completeness of the space $C[0, \infty)$ and uniqueness of the solutions of the integral equations (2.6) and (2.9).

The assertions given here do not exhaust the problem of the structure of the solutions of the integral equations. This is true, in particular, with regard to the feasibility of obtaining a practically manageable analytic estimate of the rate of convergence of $\psi_h(\lambda)$ to $\psi_\infty(\lambda)$, depending on h . We know [17,18] that a problem of this type is complicated even in the case when the integral equation is defined on a finite interval and its kernel can be expressed explicitly. Notwithstanding that, the problems connected with the possibility of replacing a solution of the problem for a composite layer (a layer with a cavity) with a solution for a composite half-space (half-space with a cavity), or the problem of selecting the latter solution as the initial approximation for sufficiently large h , can be solved numerically. Naturally, the known difficulties of summing the series at sufficiently large h encountered here must be overcome.

We shall indicate another circumstance related to the correctness of the contact problem for a composite half-space. When the conditions $\tau_{rz}^{(i)}(\varepsilon, z) = 0$ hold and stresses are absent at infinity, the solution of the problem in question will be correct if the stresses $\sigma_{zz}^{(i)}(r, 0)$ are self-equilibrated. Indeed, in this case we have

$$\sigma_{zz}^{(1)}(r, z) = 2G_1 \lim_{h \rightarrow \infty} \sum_{n=1}^{\infty} (-1)^n k_n^{-1} S_1(k_n, r) \cos k_n z \rightarrow 0 \quad (z \rightarrow \infty), \quad \int_{r < \varepsilon} \sigma_{zz}^{(1)}(r, z) r dr d\theta = 0 \quad (0 \leq z < \infty)$$

The author thanks V.S. Protsenko for showing increasing interest in this work.

REFERENCES

1. KOLCHIN G.B., and FAVERMAN E.A., Theory of Elasticity of Inhomogeneous Bodies. Kishinev, "Shtiintsa", 1972.
2. NIKISHIN V.S. and SHAPIRO G.S., Problems of the Theory of Elasticity for Multilayered Media. Moscow "Nauka", 1973.
3. SHEVLIAKOV Iu.A., Matrix Algorithms in the Theory of Elasticity of Inhomogeneous Media. Kiev—Odessa, "Vishcha shkola", 1977.
4. KREMER M.I. and NULLER B.M., Contact problems for an inhomogeneous elastic strip. Izv.Vses. n.-i inst. gidrotekhniki, Vol.109, 1975.
5. GLAGOVSKII V.B., NULLER B.M. and SHIFRIN G.M., On computation of beams of variable rigidity on a vertically-layered elastic strip, half-strip or rectangle. Izv. Vses. n.-i. inst. gidrotekhniki, Vol.129, 1979.
6. ARUTIUNIAN N.Kh., BABLOIAN A.A., and TONOIAN V.S., Contact problems for a composite half-plane. Tezisy dokl. IV Vses. konf. po prochnosti and plastichnosti, Moscow, "Nauka" 1967.
7. TONOIAN V.S., On solving a symmetric contact problem for a half-plane with an inclusion. Izv. Akad. Nauk ArmSSR, Mechanika, Vol.21, No.3, 1968.
8. BOGOVOI V.G. and NULLER B.M., Pressure of a plane circular stamp on an elastic half-space with an indentation or inclusion. PMM Vol.35, No.4, 1971.
9. GIRGIDOV A.D. and NULLER B.M., Motion of a rigid stamp into an elastic half-plane with an inclusion. Izv. Vses. n.-i. inst. gidrotekhniki, Vol.95, 1971.

10. NULLER B.M., On certain generalizations of the method of piece-wise homogeneous solutions. Izv. Vses. n.-i. inst. gidrotekhniki, Vol.120, 1978.
11. TONOIAN V.S. and MINASIAN A.F., On a contact problem for an elastic composite half-plane. Izv. Akad. Nauk ArmSSR, Mekhanika, Vol.32, No.3, 1979.
12. ARUTIUNIAN N.Kh. and BABLOIAN A.A., On the contact problems for a half-space with an inclusion. PMM Vol.30, No.6, 1966.
13. ABRAMIAN B.L. and ARUTIUNIAN N.Kh, On some contact problems for a composite half-space. PMM Vol.31, No.6, 1967.
14. GRINCHENKO V.T., Equilibrium and Steady Oscillations of Elastic Bodies of Finite Size. Kiev, "Naukova Dumka", 1978.
15. VOROVICH I.I., ALEKSANDROV V.M. and BABESHKO V.A., Nonclassical Mixed Problems of the Theory of Elasticity. Moscow, "Nauka", 1974.
16. VOROVICH I.I. and USTINOV Iu.A., On pressure of a die on a layer of finite thickness. PMM Vol.23, No.3, 1959.
17. KANTOROVICH L.V. and KRYLOV V.I., Approximate Methods of Higher Analysis. (English translation), Interscience Publishers, New York and Groningen, 1964.
18. VERLAN' A.F. and SIZIKOV V.S., Methods of Solving Integral Equations Including Computer Programs. Kiev. "Naukova Dumka", 1978.

Translated by L.K.
